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Finding Slope from a Graph
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Algebra I - Unit 3: Topic 2 — Introduction to Slope

Practice — Introduction to Slope No Textbook Correlation
Name Date Period

Fill out the table for each scenario, label the axes, graph the situation, and identify the slope type.

1. Jose’ started 2 feet away from the CBR and walked away at a rate of 1.5 ft / sec.

. Distance
Time (s) | ¢ 0 CRR (ft) RN Positive, negative,
0 || I T zero or no slope?
1
2
3

@renna is walking away from the CBR at a rate of 3 feet per second. You missed where she started, but you
now that she was at the 4 foot mark when the timer called out the 1% second.

Distance
from CBR (ft)

=3
0 L 53 1:3
4 {2 &

Time (s)

1
e
3 ID)(b

HONL

A. How far away from the CBR did Brenna start? \ 'g: _x'
B. What type of slope does this “walk” represent? )

3. Describe the differences between Jose's and Brenna’s “walk”.

@Alex was walking toward the motion detector at 2 feet per second. You missed where he started, but you know
that he was at the 8 foot mark when the timer called out the 4™ second.

Distance
ﬁ'oms CBR (ft)

|G
L
A L
S 12
b

A. How far away from the CBR did Alex start? \ \0 ’g/% . \( e
B. What type of slope does this “walk” represent? LA gjié )

~J

Time (s)

AWM = |o

5. Describe the difference between Brenna's and Alex’s “walk”.
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Algebra I - Unit 3: Topic 2 — Introduction to Slope

October 30, 2014

The graph below tracks regular gasoline prices from July 2004 to December 2004. Use the graph to answer questions

6-8. Select the best answer.

6. During which time interval did the cost decrease at the greatest rate?
A July to August
B August to September
C September to October
D October to November

7. During which time interval was the slope positive? E
July to August

August to September

September to October

o0 m@>

ring which time interval did the cost decrease at the slowest rate?
July to August
August to September
October to November

Du
A
B
C
D November to December

9. Explain, using words or an example, why the slope of a vertical line i fined.

10. On the graph to the right, sketch the following relationship.

Line A has a positive slope.

Line B has a positive slope.

Line B has a greater slope (rate of change) than line A.
{Make sure that you label the two lines.}

Y ¥V ¥V ¥V

October to November .

138

154

Regular Gasoline Prices 2004

151

A\

Juby

August

Sept
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Period

Date
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Practice — Slope from a Graph

Name

Find the slope of each line pictured below.

Dan
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Algebra I — Unit 3: Topic 2 — Slope from a Graph

October 30, 2014

Find the slope of each line. Then state the meaning of the slope in this situation.

7. Oscar’s Book
__‘:I\ i
- rise
N run
o
2
g 7
‘T 19
5
[ Meaning:
@D
g ow
g
o &
% 34 5 8 7
Days
8. Maple Syrup
xl rise
run
=
= 15
(ol
c .
& Meaning:
o
jal
]
=
5.
REEEEEEEEREEEEE
Sap Used (gal)
Sandra's Morming R .
9_ ‘ ndra orning Run HSE
P run
B
§ Meaning:

Distance (kilometers)

R 5
Tima (hours)
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SLOPE
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Finding Slope from d Grdph
HOMEWOrk CheOk

. 4/5
=112
. A vertical line

1
2
3
4. A horizontal line

5.5.(3, 1), (-3, 9), (6, -3), (9, 7) are possible answers.

6. (2, 2), (3, -2), (4, -6), (0, 10) are possible answers.

7. m=-50/3, meaning: Oscar reads 50 pages every 3 days

8. m=1/10, meaning: 10 gallons of sap makes 1 quart of maple syrup.
9

. m=2, meaning: Sandra runs 2 kilometers every hour
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